- SAMAGRA SHIKSHA KERALA
FIRST TERMINALEVALUATION 2019-20

CHEMISTRY
STD : X Score :40
Time : 1 % Hours

E 1006 Ch

Instructions
. First 15 minutes is given as cool-off time. This time is to be spent for
reading the question paper.
. Answer the guestions according to the instructions.
. Answer thé questions after considering the score and time.

Answer any 4 questions from 1 to 5. Each carries 1 score. (dx1=4) .

1. Which subshell among the following has the highest energy? (1)
(2p, 4s, 3d, 3p)
2. Find thé number of gram molecular mass(GMM) present in 56g Nitrogen. (1
[Hint: Molecular mass of nitrogen is 28]

3. Which of the given metal reacts vigorously with water. (§h]
{Cu, Fe; Na, Au)

4. What is the'oxidation state of Cu in. Cu,0.
[-2,+2,+1, -1]

3

[Hint: Oxidation state of Oxygenis -2] (b
5. Analyse the situations given below and write the one which is related to
Boyle's law, _ (1)
a) Ifan inflated balloon is kept in sulight, it will bufst after sonie time.
b) As the balloon is being inflated, its volume increases.
c) Thcsiaeofairbubblesﬁsingﬁ‘omtﬁcbonotnofawatcrbodymduaﬂy
increases, : ;
Answer any 4 questions from 6 to 10. Each carmies 2 scores. {(4x2=8)
6. The subshell electronic configuration of an element is given in two ways. 2
(i) 1s* 267 2p°. 37 3p° 3d* 4s? '
(ii) 1s*282p*3s?3p3d°® 4s'
Which among these is the correct electronic configuration? Give reason. (2)
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19.  The molecular arrangement in solid, liquid and gaseous states are different.

a) On the basis of this, write a short note ofi gaseous state highlighting the energy
of molecules, distance bétween molecules, attractive force between molecules
and freedom of movement of molecules. _ (2)
b) Some characteristics of constant moving gas molecules are responsible for
maintaining the pressure of a gas. Write'any two relevant characteristics.  (2)
20.  Atomic number of Manganese is 25,

a) Write the subshell eléctronic configuration of Manganese. (1)
b) Write the subshell electronic configuration of the positive ion in MnO, .
( The oxidation state of oxygen is -2) ()

i, ©) Give reason for the variable oxidation states of d block elements? (n
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